F54 AE/AEW/AF/AFW/ZBF/ZBFW

NF:UALAESANILATIEU AN LU U EN A
HIGH PRECISION PLANETARY GEAR BOX

AR, ®

&k 1580 e Aanos b Aasinea (nuuaue) Inda



002896 - UFEW Wila AN Aaaos Sumadiaur nsuaivdu e (Ningbo Zhongda Leader Intelligent Transmission Co., Ltd.)

Y

e aeas nsziindeanuduly 16 $gainAavosnsidnusuusnluga

UILMDSTULAADU NOLHDSUUIRLEA
INAFTOUNHAINNUNENF

A 38w Ningbo Zhongda Chuangyuan Precision
Transmission Equipment Co., Ltd.

udm Ningbo Zhongda Leader Intelligent Transmission Co., Ltd.
roskdulutl 1998 iuassrnsshusuusalula IWinnaiTunsisuasimu nMawan
mMsvsiazasusnsvadlasiinoines uaimasunnIEn shnasouieNNLLG
wazAnAnugiluuysanms danvuasudsvgos 9 uis witnanuannni 1,800 Aau
uazyuasmzdou 151.17 dunenu Tudoufamnan 2017 vssnaamadouluiu A

PoImAANAANSNTiBuIA (sWaviu 002896)

vasnibuassnsmaluladdugessdusamabufiuaddmslunsa
esguuiizng 10 stsmsuazinasguananngan 5 s1oms quaansvng 107

wAsuazAnsUnsnsUsHhivg 11 siwas

viimtuwhvasauiidouasisunssuasdnssduidoldssuisniignunanandiu
Usznoundndmsuaunsalaniuzuazsuusalusiuasiusnnsluasunseanuuy
shodaldilsuuiiunnsanazdndununansauvivasussnisgaldiuagunsransluvuy
usfomannnssy ladadinddansu: wawnulni insesiioindasdng uazanwndug
ufaesasinsuazgunsaliliasansUaImNs ussaAnel Ame Sidnvsaiing
UAEANSSAIVNIANSUNVY UUALEIUYaINTAsHENAIASIAUIUHAR LT

g Tudsana fseos q ihsunsuaiTusainaUsma

A u5¥v Foshan Zhongda Leader Drive Technology Co., Ltd.

Ningbo Zhongda Leader Intelligent Transmission Co., Ltd. was
founded in 1998. It is an electromechanical automation enterprise
integrating R&D, manufacturing, sales and service of motor drives,
micro motors, precision reducers and integrated products. It has 9
branches and subsidiaries, over 1,800 employees, and a registered
capital of 151.17 million yuan. In August 2017, it was listed on the
A-shares of the Shenzhen Stock Exchange (stock code 002896).

The company is a national-level high-tech enterprise, leading and
participating in the drafting of 10 national standards and 5 industry
standards, maintaining 107 patents and 11 invention patents. It’ s

owning a Zhejiang-level enterprise R&D center.

The company is based on intelligent and automation equipment core
component manufacturers and design solution providers. With its
differentiated and cost-effective advantages, the company’ s products
are widely used in industrial robots, intelligent logistics, new
energy, machine tools and other fields, as well as special machinery
and equipment for food, packaging, textiles, electronics, and medical
treatment. On the basis of realizing domestic substitution of
imported products, gradually participate in international competition.



naxniAnsoad AE/AF
AE/AF SERIES GEAR BOX

B wuuuaneawein Sectional drawing

W Uszaviuazvansoiawsu Type and model number

4V/3V EEL

@ wanenean Qutput shaft

@ unumsausuwniin Front cover

@ daisiu Oil seal

@ antuniihuwanwnaan Output shaft front bearing
® Avsaniaszi Planetary gear

SEIRENELZEL

® antwwanwnaansunas Output shaft rear bearing
@ wilaaxsunnu Inner ring gear

uHuAsaUaUMAY Rear cover
©® unuiilloswszaniing Solar wheel P03
®© naugndudasio Coupling bearing

@ dsia Coupling

®@ witwvau Flange

simesou AE/F AE/F Reducers

uaimosiwashh Servo motor

60 AEF 10 ()

(S) - 400

T1

© @ 6 ®

® ®

@

@ wnuavuslaswiAs: 060

Gear head frame size: 060

shadadinAus
@ AE: yawihudandauuunan
AF: aanthudaudauuudinass

Gear head series code:

AE: Round mounting flange series
AF: Square mounting flange series

® SaswenAvs: 10

Gear ratio: Single stage 10

wnnuavsn Frame Fuuduiilos Stage [mmsgu (wariu) Standard (omitted)
1 7
60AE/F
2 10
ANuwiugn Accuracy ‘ 90AE/F 1 7
@ Tmaawmarwnoende +3% veussdauneanitounnn 2 10
Output shaft load value at +3% of allowable output torque 1 7
120AE/F
2 10
1 7
160AE/F
2 10
Uszaviwanw g Input shaft type

S: nsFerlausin(pnriv)@Esnsalaulsiuuuiivachifidnalunamasy S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)

S1: msdeashownudon@Eunsaldnulsviuuuiivacbifianalunawmas) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)
S2: Lock with keyway (Input shaft with key)

$2: nsFeashoan (wanwithsasiian)
K: fandon
A: sislouuudu q (nsaunfinsias)

K: With keyway

A: Other adapters (Please contact us)

® rdwowodisesThiilonuls(w)

Applicable servo motor power (W)

@ oanswswenihulauedhuaziainesivos il oarn( )

Corresponding dimension table of input flange and servo motor ()




nsxntAssaasziaosd AE/AF
AE/AF planetary GEAR BOX

4V/3V EEL

M sunwwassauet Product diagram

>
m
~
>
M
n
m
2
m
wn

M Foyavnewaiia Technical information

sunansauai Product type 60 90 120 160 Swama Reduction ratio Ruusuwiiles Stage
31 85 144 342 3
P04 50 95 200 542 4
41 105 220 650 5 ’
30 93 200 550 7
23 83 180 500 8
18 70 155 450 10
31 115 209 - 12
31 115 209 342 15
, 50 130 275 - 16
usadawnoaniirnrua Rated output torque N.M
50 130 275 542 20
41 {(S5] 280 650 25
50 120 260 - 32
41 125 265 550 35 2
41 115 245 500 40
41 {(S5] 280 650 50
23 83 180 - 64
23 83 180 500 80
18 73 165 450 100
szznannalgau Life time aalug Hour 20000
usadaiivin TWmyavau Instant emergency stop torque N.M 2 whwosussdnwneoniidwiua 2 times rated output torque
suwandausei Product type 60 90 120 160 wiaw Unit Sunuduiiles Stage
usaluuwasedl Radial force 750 2100 2520 7000 N -
usdluuununu Axial force 815) 1050 1260 5000 N ©
Uszansanwnnssuhmin Full load efficiency =97 % !
294 2
ibwnitn Weight 09 25 65 18 Kg !
1.2 3.0 7.2 20 2
aaungiiTunsvinu Operating temperature -10~+90 °C -
szeiunstleariu Protection level 1p65
38 suaoAu Lubrication method msnasaunasnaynaltu LIFETIME LUBRICATION
38msdimsia Installation method Suq ANY

usalumnsafizsgauazusadumnunugan Wewnoen 100RPM nszvinfishumiisgudnansgauwanwioan (L/2) waamaiwioan
Maximum radial force and maximum axial force, when the output is 100RPM, it acts on the center position (L/2) of the output shaft.



nsxntAgsaaszissd AE/AF
AE/AF planetary GEAR BOX

M Fayavnawmaiia Technical information

suwandaed Product type 60 90 120 160 snawa Reduction ratio [snuusiuiiles Stage
0.15 0.69 2.94 9.21 3
0.12 0.50 2.27 7.54 4
0.10 0.46 2.10 7.42 5 1
0.10 0.42 2.00 7.14 7
0.10 0.42 2.00 7.07 8
0.09 0.39 1.90 7.03 10
0.06 0.32 1.50 - 12
0.05 0.29 1.13 2.71 15
. o 0.06 0.32 1.11 - 16
Tumusimnudios Moment of inertia Kgem2
0.05 0.29 0.99 2.71 20
0.05 0.29 0.98 2.71 25
0.05 0.26 0.89 - 32
0.05 0.26 0.89 2.71 35 2
0.05 0.26 0.89 2.71 40
0.05 0.26 0.89 2.57 50
0.05 0.26 0.89 - 64
0.05 0.26 0.89 2.57 80
0.05 0.26 0.89 2.57 100
suwandaiei Product type 60 90 120 160 Fuudwilos Stage
i arcmin <7 <7 <7 <7 1
AnuAAnAaan Backlash -
aFN.UNT <10 <10 <10 <10 2
Aanusunusiousada Torsion resistance N.M/arcmin .8 4.5 12 38 o
@uesunmiu Noise dB(A) 63 -
ANuEnaan Output speed min-1 4500 4500 4500 4500 =
AnuEthituusin Recommended input speed min-1 3000 3000 3000 3000 o

1. Tumudanuiflosduriusiuiwanwah Moment of inertia is related to input shaft.
2. inesgIuMsamRduds o 1 wes Taienuisegn 3,000 sousiounit TaslifiTnan Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.

4V/3V EEL

SEIRENELZEL

P05



4V/3V EEL

>
m
~
>
M
n
m
2
m
wn

P06

nsrAlAgsaATIRR-NHeosnenadad AE
AE planetary GEAR BOX-Mechanical parameter

M vuuuaaswuna Dimensional drawing

2190n Output wugn Input
L1 Q3
L2 L3 L4
_l1s oL
W .
L6 L7
=l 5 3‘—— g8
ol 5
1
L9 '
4-G1
M snssuanauna Dimensional table [avias - . Unit: mm]
sunansauai Product type 60AE 90AE 120AE 160AE
Fuudies Number of stage 1 2 1 2 1 2 1 2
L1anusmsiuwasnaas L1 overall length 116 126 151 165.5 196 207 284.5 328.5
L3manuoinaas L3 body length 57 67 77.3 91.8 93 104 131.5 175.5
anoan Output
L4amsuwan L4 output shaft length 35 40 55 87
L5mnugmiwandawan L5 output length to the shaft shoulder 30.5 36 50 80
L6anupvasan L6 key length 25 28 40 70
L7enupnanandsanuwan L7 key length to shaft end 25 4 5 5
L8idunuaughauaa L8 spigot diameter 3 3 4 5|
D4idunuaugharawanwnoan D4 output shaft diameter ®14h7 ®20h7 ®25h7 D40h7
D5iuruaugnasuiwan D5 shaft shoulder diameter 20 D30 40 55
D6 srimuasiumaiduiNugudnatswasusa D6 spigot diameter d40h7 d60h7 »80h7 ®130h7
D7 dunuaugnaanaas D7 body diameter P61 P90 P15 P160
D8uuadusriuaudnawiiney D8 hole circle P52 P70 $100 ®145
Blanuniwasan B1 key width 5 6 8 12
Hisznzmuwesduduiwan H1 key height 16 225 28 43
Gauweginanda G2 mounting screw hole M5X10 M6X12 M10X16 M12X20
Guuaginduinsenanawanwnean G3 center screw hole M5X15 M6X18 M10X22 M12X25
aug Input
L2anusnmiihudaueg L2 input flange length 24 33.7 48 66
L9ausmiwaiuaimas L9 motor shaft length 30 40 58 79
L10msnesiuniisanudnwasuaa L10 spigot depth 10 10 10 10
Diauaduruaudnawiads D1 mounting hole distribution circle ®70 ®90 145 $200
D2msrvuasnunibaduinudugnansuesuaa D2 spigot diameter D50G7 d70G7 D110G7 ®114.3G7
D3zunsdusituausnawarzgh D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
G1anuansinaunida G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3wiihudauw g Q3 input flange 060 080 0130 0175




nszlAALsAINIATIER- RS enadsd AF
AF planetary GEAR BOX-Mechanical parameter

M wuuuasswura Dimensional drawing

2n9an Output

g Input

D10 L1 Q3
L2 L3 L4
D8 L1 L8 M
| T I T
e i S _— .
o O = o
~B1
E‘ 4@ o g 5
@3 U
N N4 Ll . "
& er” @ . i el ©F:
4-D9 griu L9 T 4461
M snswueanauna Dimensional table [wila : s, Unit: mm]
suwandaei Product type 60AF 90AF 120AF 160AF
Funuduiiles Number of stage 1 2 1 2 1 2 1 2
L1anusnsuwasnadas L1 overal | length 116 126 151 165.5 196 207 284.5 328.5
L3mugmnaas L3 body length 57 67 77.3 91.8 93 104 131.5 175.5
2n99n Output
L4anuewan L4 output shaft length 35 40 55 87
L5ansuenwandstnwan L5 output length to the shaft shoulder 30.5 36 50 80
L6mnuumwasdn L6 key length 25 28 40 70
L7enupnannandslanuman L7 key length to shaft end 2.5 4 5 5
L8iduruautnauaa L8 spigot diameter 3 3 4 5
L11anuvurwesiiudauwnoon L11 output flange thickness 8 10 16 15
D4iduiuaudnanawaneioon D4 output shaft diameter ®14h7 ®20h7 ®25h7 ®40nh7
D5iduriuaugdnandiwan D5 shaft shoulder diameter D20 ®30 40 55
DB srmuasnumiadusugudnawasusa D6 spigot diameter ®50h7 ®80h7 ®110h7 ®130h7
D7 durihuautnaenaas D7 body diameter 61 D90 115 ®160
D8wusdunugugnaaings D8 hole circle 70 ®100 »130 D185/d200
D9uunmgiim D9 mounting hole ®5.5 6.5 8.5 D11/D13.5
D10wiihudaudsznou D10 hole circle 062 090 o115 0160/0175
Blauntewasan Bl key width 5 6 8 12
Hiszuzsuwasansuiwan H1 key height 16 225 28 43
G3uuagindmnssnanamaneneen G3 center screw hole M5X15 M6X18 M10X22 M12X25
a4 Input
L2anusmuihudauwwgn L2 input flange length 24 33.7 48 66
L9anusmwanuainas’ L9 motor shaft length 30 40 58 79
L10msnesiumiamnudnwasuaa L10 spigot depth 10 10 10 10
Dizuwadunuaudnaingy D1 mounting hole distribution circle 70 90 D145 200
D2msrvusshuniadunuaudnanseaswoa D2 spigot diameter P50G7 P70G7 P110G7 P114.3G7
D3nunaidunuaudnarawarwugn D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
Glanuanginavida G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3wnthudauwign Q3 input flange 060 080 0130 o175

4V/3V EEL

SEIRENELZEL

PO7



naxniAusoad ZBF
/BF SERIES GEAR BOX

M wuuuanenwein Sectional drawing

@ wananeaan Qutput shaft
@ usinmsousuntin Front cover
@ dariaiu Oil seal

N
o
=
(%)
m
=
m
%]

@ antuniihwanwnaan Output shaft front bearing
® Avsenmszd Planetary gear
® anTuwanwnaansnunas Output shaft rear bearing

@ lasuvdu Inner ring gear
P08 uWuATaUA LAY Rear cover
© whuiilloswszoniim Solar wheel
®© naugniludosio Coupling bearing
@ oasia Coupling

@ witwuau Flange

W Usznuvuasvinnuawsu Type and model number

shuasau ZBF ZBF Reducers \ wawmosizos Servo motor

60 /BF 10 O (5 - 400 T1
© @ ® ® 6 ® )

@ wnoiavownalassiuAps: 060/090/115/142/180 Gear head frame size: 060/090/115/142/180
shadsdiAs: Gear head series code:
D g yaniulaudauuudimasn ZBF: Square mounting flange series
® damwmenAus: 10 Gear ratio: Single stage 10
AMAYINGH Frame | swoududios Stage | Axwsiug Pl Precise | snmsghuP2 Standard
1 3 5
060ZBF
2 5 7
1 3 5
090ZBF
ANNusngn Accuracy 2 5 7
@ Tnaswanwnoande +3% vasusiiamioanilounin 1 3 5
Output shaft load value at =3% of allowable output torque 11528F 2 5 7
1 3 5
142ZBF
2 5 7
1 3 5
180ZBF
2 5 7
Uszavwanagh Input shaft type

S: msfealausu(pniiu) (@ansalgauldiuuuiiualifananlunaimas) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
S1: msdorshuwnuden(@snsaldnulsdiuuuiuaiganasluuewmes) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)

$2: nsdeAsnan (wanaitheiailan) S2: Lock with keyway (Input shaft with key)
K: fiangon K: With keyway
A: shslouuudu g (ngaundinsias) A: Other adapters (Please contact us)

® mawamasivoshiilgnuld (W) Applicable servo motor power (W)

@ onswsunaniulausduazieimesiveshitaenadoaiu () Corresponding dimension table of input flange and servo motor (')




nszdnfssaMas s sd ZBF
ZBF planetary GEAR BOX

M sUawnansiausi Product diagram

S31¥3S 497

M Jayavnawmaila Technical information

suwansassi Product type 060 090 115 142 180 Swawa Reduction ratio [snuugiuiiles Stage
45 120 198 332 578 3
40 130 280 532 1040 4
50 150 320 650 1190 5 ] P09
40 130 290 540 1090 7
35 110 250 490 990 8
30 90 220 440 890 10
45 120 198 332 578 15
usadnwnoaniifnua M 40 130 280 532 1040 20
Rated output torque ' 50 150 320 640 1190 25
40 130 290 540 1190 35
35 110 250 490 990 40 9
50 150 320 640 1190 50
45 140 300 - - 64
40 130 290 540 1090 70
85 110 250 490 990 80
30 90 220 440 890 100
ssuznanmsignu Life time afalag Hour 20000
:;s:tgl(?tﬁengzs?;:tgp torque N.M 3 whasawssiinwnoaniiinnua 3 times rated output torque
sunandaied Product type 060 090 115 142 180 e Unit Funuduiiles Stage
usdluuunsail Radial force 1100 3000 6023 9230 13500 N =
usdluuuaunu Axial force 630 1230 2550 4200 7000 N -
UszAnsawanssutiavin Full load efficiency =97 % !
294 2
srwnitn Weight 1.055 2.680 6.32 18.30 26.80 K 1
1.065 3.135 7.20 22.14 33.55 2
anungiiTunsvineu Operating temperature -10~+90 °C e
szeiunnstlasru Protection level Ip65
38 suaedu Lubrication method msvaeAunasaonymsldnu Lifetime lubrication
38nsfinck Installation method suq Any

usdlunnsafiasanuazusTuuuuNuaNan Weawioan 100RPM nssinfisinunisauinasuoanaizioon (L/2) wosiwanwnean
Maximum radial force and maximum axial force, when the output is 100RPM, it acts on the center position (L/2) of the output shaft.



nszdnfssaMas g 3d ZBF
ZBF planetary GEAR BOX

M Foyavawmaila Technical information

suwandauei Product type 060 090 115 142 180 Swama Reduction ratio |snuauduiles Stage
0.16 0.61 3.25 9.21 28.98 3
0.14 0.48 2.74 7.54 23.67 4
0.13 0.47 2.71 7.42 23.29 5 1
0.13 0.45 2.62 7.14 22.48 7
0.13 0.44 2.58 7.07 22.59 8
0.13 0.44 2.57 7.03 22.51 10
0.03 0.13 0.47 2.71 7.42 15
E Tusmanuidon Kgom2 0.03 0.13 0.47 2.71 7.42 20
M Moment of inertia 0.03 0.13 0.47 2.71 7.42 25
I'UI'I’ 0.03 0.13 0.47 2.71 7.42 35
X 0.03 0.13 0.47 2.71 7.42 40 ;
(I'/I'I’ 0.03 0.13 0.44 2.57 7.03 50
0.03 0.13 0.44 - - 64
0.03 0.13 0.44 2.57 7.03 70
0.03 0.13 0.44 2.57 7.03 80
0.03 0.13 0.44 2.57 7.03 100
P10
suwandaei Product type 60 90 115 142 180 Fuuduiilies Stage
, arcmin <5 <5 <5 <5 <5 1
AnuAaaAdan Backlash o
D9AN.UNT <7 <7 <7 <7 <7 2
anusuvnusioussdia Torsion resistance | N.M/arcmin 7 14 25 50 145 -
1@uesunu Noise dB(A) <63 -
ANuEnean Output speed min-1 6000 6000 6000 6000 6000 o
FruBediiuah min-1 3000 3000 3000 3000 3000
Recommended input speed -

1. Tususianaudosduiussumarwgh Moment of inertia is related to input shaft.
2. inesgunTaTRdudos sz 1 wes fafienuiEendh 3,000 seusdounii Taslifilnaa Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



nsrlAAgsAAT K- HBosnnadad ZBF
ZBF planetary GEAR BOX-Mechanical parameter

M vuuuaaswuna Dimensional drawing

anoon Output

g Input

L1 Q3
L2 L3 L4
1 D8 L L8
o e =5 B
/N ! b L6 L7 N
~ Bi I w
| M
B=@) 6 == 5 8- z 8 m
S X
> L10 O L5 o
N < !/ - n
@\ 9] S — -
4-D95pinu/ L9
D7
P11
M snswuanauna Dimensional table [wiiaw : ua. Unit: mm]
suwandauei Product type 060ZBF 090ZBF 115ZBF 142ZBF 180ZBF
Sunuduiiles Number of stage 1 2 1 2 1 2 1 2 1 2
L1anusmsuwesnasd L1 overal | length 121.5 131.5 153 167.5 208 219 295.3 330.5 295.5 352.5
L3mnupninaas L3 body length 60.5 70.5 71.3 85.8 95 106 132.3 167.5 141 198
an99n Output
L4anuesnwan L4 output shaft length 37 48 65 97 105
L5amspimandaman L5 output length to the shaft shoulder 28.5 36 51 79 82
L6ausnvasan L6 key length 25 32 40 70 70
L7mnusmannaufisdanswan L7 key length to shaft end 2 2 5 4 6
L8idunuaugnauaa L8 spigot diameter 7 10 12 15 20
L1 anumunaaamiulauenoen L11 output flange thickness 8 10 14 15 20
DAduriuaudnanamanzioan D4 output shaft diameter »16h7 ®22h7 »32h7 »40h7 ®55n7
D5idusinuaugnansuuwan D5 shaft shoulder diameter D20 D30 D40 D50 D65
Dbsrmuasiuntadusuaudnauasuaa D6 spigot diameter O50h7 ®80h7 ®110h7 ®130h7 »160h7
D7 dunuaugnaenaas D7 body diameter 61 D90 »115 142 ®180
D8uunadurugudnawings D8 hole circle ®70 $100 ®130 ®165 215
D9wurmsde D9 mounting hole 5.5 6.5 8.5 D11 D13
D10 mnuntdunsinea D10 mounting width 062 090 0120 0142 0180
Blauniewasdun Bl key width 5 6 10 12 16
Hiszpemmwosauduiwan H1 key height 18 225 35 43 59
Glaumgindriasinatawaiznoan G3 center screw hole M5X15 M8X18 M12X28 M16X36 M20X42
297 Input
L2anugmutihudauw g L2 input flange length 24 33.7 48 66 49.5
L9anusmmanuaiwmas L9 motor shaft length 30 40 58 81 81
L10Asesinuniismnudnoasuaa L10 spigot depth 10 10 10 12 12
Diwunadurugusnansineg D1 mounting hole distribution circle 70 D90 D145 ®200 ®200
D2msrmuasnumiadurugudnawaswaa D2 spigot diameter D50G7 »70G7 d110G7 »114.3G7 »114.3G7
D3vuadushudugnarawanzugh D3 input shaft diameter <®14G7 <P19G7 <P24G7 <®35G7 <®35G7
Glanuanginawvida G1 mounting threads X depth M4X10 M5X12 M8X21 M12X28 M12X28
Q3wnthhudauwign Q3 input flange 060 080 0130 o176 0176




nsxynAusosd ZBFW/AE/FW
ZBFW/AE/FW SERIES GEAR BOX

B wuuuanenwein Sectional drawing

M4/3V/M19Z &%

@ wanenean Qutput shaft

@ darinuiu Oil seal

@ antuniihuwanwnean Output shaft front bearing
@ Avsaniaszi Planetary gear

® unuiiloanszaniiag Solar wheel

® uwnnasaushuwin Front cover

@ antwwanwnoansunas Output shaft rear bearing
flomsu Adjusting nut

© saduantuduiaidaynuadd Double row angular contact bearing
® \fosnenaonanann Output bevel gear

@ ns=Unamann Right angle box

N
w
iy
=
<
>
m
<
=
=
n
m
2
m
n

®@ fosnonasnaigh Input bevel gear
® fiomden Lock nut
®@ shsioridh Input coupling

® aunsnidea Locking device
® wrinasoushunas Rear cover
@ yufuswihe Rear cover gasket

Waaaunan Inner ring gear

W Usznuvuamvinnuawsu Type and model number

shvinsau ZBFW ZBFW Reducers \ wawmosizos Servo motor

060 /BFW 10 () (S) - 400 T1
@ @ ® ® 6 ® )

@ wnoiavownalassiuAps: 060/090/60/90 Gear head frame size: 060/090/60/90
shadsdiAs: Gear head series code:
D W yaniulaudauuudimaon ZBFW: Square mounting flange series
® damwmenAus: 10 Gear ratio: Single stage 10
AuAaYNgH Frame | swouduidios Stage wmsgu (saviu) Standard (omitted)
1 8
060ZBFW
2 12
1 8
090ZBFW
ANuLing Accuracy 2 12
@ Tnaswanwnoande +3% vasusiiamioanilounin 1 10
Output shaft load value at +3% of allowable output torque BOAE/FW 2 15
1 10
90AE/FW
2 15
Usaaviiwanagn Input shaft type

S: Msdarlausin (i) (@usaldnuldiuuuiua bifianaslusamas) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)

$1: msfeasuwnudon(anunsaldnuldviuuuiiva: lifiananlunaines) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)

© S2: msdenshuan (wanwdhsosiian) S2: Lock with keyway (Input shaft with key)
K: fanden K: With keyway
A: dhslouuudu q (ngaundnsialsn) A: Other adapters (Please contact us)

® mawamasivos i lgnuld (W) Applicable servo motor power (W)

@ enswwvwanthulauwdiuass siwosii Yourin () Corresponding dimension table of input flange and servo motor (')




nsxlntAssanaszvissd ZBFW/AE/FW
ZBFW/AE/FW planetary GEAR BOX

M sunwwassauet Product diagram

& . . ;.
o i o |
% - |
4
M osyavnewaiia Technical information
suwandauei Product type 060ZBFW | 090ZBFW | 60AE/FW | 90AE/FW |&nsma Reduction ratio |snuauduiiles Stage
45 120 31 85 3
40 130 50 95 4
50 150 41 105 5
40 130 30 93 7 !
85) 110 23 83 8
30 90 18 70 10
45 120 31 115 15
40 130 50 130 20
usefinwneoniirua Rated output torque N.M 20 150 hd 135 2
40 150 41 125 35
35 150 41 115 40
50 150 41 135 50 2
45 110 23 83 64
40 120 30 110 70
35 110 23 83 80
30 90 18 73 100
szpznanAslaw Life time flas Hour 20000
usadaiivinTinganau NM 3 whaswsidawoonitiun 2 whussidareonitimun )
Instant emergency stop torque ’ 3 times rated output torque 2 times rated output torque
sunansauai Product type 060ZBFW | 090ZBFW | G60AE/FW | 90AE/FW e Unit Furuduiiles Stage
usdluuunsait Radial force 1100 3000 750 2100 N -
usaluuwaunu Axial force 630 1230 375 1050 N S
UszAnsmwnnssutihwiin Full load efficiency 297 % !
294 2
St Weight 1.6 5.6 1.5 5.6 K 1
1.9 6.3 1.8 6.3 2
anungii Tunsvinnu Operating temperature -10~+90 °C -
szeiunnsilaariu Protection level Ip65
38msuaadu Lubrication method msudsAunasnoynsitu Lifetime lubrication
38nnatinca Installation method 5u 4 Any

Lﬁﬂuum‘fmﬁ@aamuazuiﬂuuumnuzjaam ifiswnoan 100RPM nszviniisinumilsgueinansvaamanwioon (L/2) wodiwanwnoon
Maximum radial force and maximum axial force, when the output is 100RPM, it acts on the center position (L/2) of the output shaft.

MA/3IV/MI9Z B2

N
o
m
=
~
>
m
~
=
=
n
m
2
m
n




M4/3V/M19Z &%

N
w
iy
=
<
>
m
<
=
=
n
m
2
m
n

nsxnAgsanaszviasd ZBFW/AE/FW
ZBFW/AE/FW planetary GEAR BOX

M Foyavawmaila Technical information

suwandauei Product type 060ZBFW 090ZBFW B60AE/FW 90AE/FW | smsma Reduction ratio |huusfuiilos Stage
0.3 28 0.3 2.3 3
0.3 2.3 0.3 2.3 4
0.3 2.3 0.3 2.3 5 ]
0.3 2.3 0.3 2.3 7
0.3 2.3 0.3 23 8
0.3 2.3 0.3 2.3 10
0.07 0.3 0.07 0.3 15
Tuumsamuidon R 0.07 03 0.07 0.3 20
Moment of inertia 0.07 0.3 0.07 0.3 25
0.07 0.3 0.07 0.3 35
0.07 0.3 0.07 0.3 40
0.07 0.3 0.07 0.3 50 2
0.07 0.3 0.07 0.3 64
0.07 0.3 0.07 0.3 70
0.07 0.3 0.07 0.3 80
0.07 0.3 0.07 0.3 100
suwandaiei Product type 060ZBFW 090ZBFW 60AE/FW 90AE/FW Fuuduiilies Stage
< arcmin <8 <8 <10 <10 1
ANuAaaAdan Backlash vyl = = e B >
anushuvnusioussiia Torsion resistance | N.M/arcmin 7 14 1.8 4.5 =
1@uesunu Noise dB(A) <65 <73 -
ANuEInaan Output speed min-1 6000 6000 4500 4500 o
_

1. Tususianaudosduiussumarwgh Moment of inertia is related to input shaft.
2. inesgunTaTRdudos sz 1 wes fafienuiEendh 3,000 seusdounii Taslifilnaa Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



nsrAtAgsaNAT K- Heosuenadsd ZBFW/AFW
ZBFW/AFW planetary GEAR BOX-Mechanical parameter

M vuuuaaswuna Dimensional drawing

D10 L1
L3 L4
4—4[)/97‘3;»{11)7\\ /L3 | P /ﬁ D1
’ Q — I (o o) |
XN L6 L7 LN © /N
. | SRR ® (’ ©
5—1-8 28 e
| — )
5 | & |
Q3
7 3
| i ﬁ‘
03 g
D2
M snswuanauna Dimensional table [weiaw : ua. Unit: mm]
quwandausi Product type 060ZBFW 090ZBFW 60AFW 90AFW
Funuduiiles Number of stage 1 2 1 2 1 2 1 2
L1musmsmwasnass L1 overal |l length 146.2 165.7 206.5 229.9 140.7 160.2 204.5 227.9
L3mnupninaas L3 body length 38 57.5 455 68.9 34.5 54 51.5 74.9
an99n Output
L4anuesnwan L4 output shaft length 37 48 35 40
L5amspimandaman L5 output length to the shaft shoulder 28.5 36 30.5 36
L6mnuumeasan L6 key length 25 32 25 28
L7mnusmannaufisdanswan L7 key length to shaft end 2 2 2.5 4
L8mnununwasuaa L8 boss thickness 7 10 3 3
L11aumunvesmiudauwoan L11 output flange thickness 8 10 8 10
DAduriuaudnanamanzioan D4 output shaft diameter O16h7 ®22h7 ®14h7 ®20nh7
D5idusinuaugnansuuwan D5 shaft shoulder diameter D20 D30 D20 P30
D6 srmuasiuntadusuaudnauasuaa D6 spigot diameter O50h7 ®80h7 ®50h7 O80h7
D7 dunuaugnaenaas D7 body diameter D61 D90 61 D90
D8uunadurugudnawings D8 hole circle ®70 $100 70 ®100
D9vunasia DI mounting hole 5.5 6.5 5.5 ®6.5
D10 mnuntdunsinea D10 mounting width 062 090 062 090
Blauniewasdun Bl key width 5 6 5 6
H1szasshuwesdnsuwan H1 key height 18 24.5 16 22.5
G3uunginduinsenanaiwanenaan G3 center screw hole M5X15 M8X18 M5X15 M6X18
o Input
L2anugmwiihudauwwgh L2 input flange length 19.5 20.5 19.5 20.5
L9anusmmanuaiwmas L9 motor shaft length 30 40 30 40
L10msnesinumisauanwasuaa L10 spigot depth 8 7 8 7
Diwunadurugusnansineg D1 mounting hole distribution circle D70 D90 ®70 ®90
D2msrmuasnumiadurugudnawaswaa D2 spigot diameter D50G7 »70G7 d50G7 d70G7
D3vuadushudugnarawanzugh D3 input shaft diameter <O14G7 <P19G7 <P14G7 <P19G7
Glanudnginduda G1 mounting threads X depth M4X10 M5X12 M4X10 M5X12
Q3wnthhudauwign Q3 input flange 060 080 060 080

MA/3IV/MI9Z B2

N
o
-
=
~
>
m
~
=
=
n
m
2
m
n




M4/3V/M19Z &%

N
w
iy
=
<
>
m
<
=
=
n
m
2
m
n

nsrAtAgsANIATIER- W RB s enadsd AEW

AEW planetary GEAR BOX-Mechanical parameter

M vuuuaaswuna Dimensional drawing

L1
L3 L4
r 1., L8
S I AT
L
518 3} =
o L
— -
Q3
7 i 3
N { ) i
D3 9‘
-
D2
M snswuanauna Dimensional table [aviaw : . Unit: mm]
quwansdausi Product type 60AEW 90AEW
Suuduiiios Number of stage 1 2 1 2
L1anusmsuwesnaas L1 overal |l length 140.7 160.2 204.5 227.9
L3anusnaas L3 body length 34.5 54 51.5 74.9
2n99n Output
L4anusnwan L4 output shaft length 35 40
L5amspimandaman L5 output length to the shaft shoulder 30.5 36
L6anusmwosan L6 key length 25 28
L7manusmnannaudsaowan L7 key length to shaft end 2.5 4
L8mnununwasuaa L8 boss thickness 3 3
Ddidunuaudnanawanenean D4 output shaft diameter P14h7 D20nh7
D5idusiuaudnasuuwan D5 shaft shoulder diameter D20 D30
D6msrimuasihuntadusuaudnawwesuaa D6 spigot diameter ®40h7 d60h7
D7 dunuaugnatanaas D7 body diameter D61 D90
D8nuaduriuaudnawiines D8 hole circle P52 P70
Blauniewosdun Bl key width 5 6
Hiszuzsnwosdnduman H1 key height 16 225
G2uuaginaunda G2 mounting screw hole M5X10 M6X12
G3zungindpInsenaaiwanenean G3 center screw hole M5X15 M6X18
w4 Input
L2anusnmiiudaueg L2 input flange length 19.5 20.5
L9anupmuwannawmas L9 motor shaft length 30 40
L10asesiuniisanudnwesuea L10 spigot depth 8 7
Diwunadunuguinatsinas D1 mounting hole distribution circle D70 P90
D2msrimuasumiaduriugudnaoowea D2 spigot diameter D50G7 D70G7
D3wunaidurugusnatamatw g D3 input shaft diameter <®14G7 <®19G7
Glanudnginawida G mounting threads X depth M4X10 M5X12
Q3uinudauwgn input flange 060 080




M NUUNANDIHOFITS NTidonAADY

Servo motor corresponding size table

M ns:UniAgswgh Gearbox input

PEG7
®DG7

@

B s unsdusnihulaueniduazuainesionas 1 Input flange and servo motor matching table

ﬁ—]ﬁﬂwugma{ . ixu:n'ﬁﬁmcﬁ"'q glnﬁzn Tv-ﬁq IR ugughaaaawa| durhugudnanweswea ANNANANTAINUDE | ANHANANTAINIWAT
Motor power VWIRNRIADT | |nstallation distance | Threaded hole Frame Aperture St Stop depth Shaft extension
Motor size
W) A B c D E F |
T 45 M3 38 8 30 3 25
T2 46 M4 40 6 30 3 25
50 T3 47 M4 40 8 30 3 25
T4 48 M3 42 8 30 3 25
T 45 M3 38 8 30 3 25
100 T2 46 M4 40 8 30 3 25
T3 46 M4 40 8 30 3 25
T4 48 M3 42 8 30 3 25
T 70 M4 60 1 50 3 30
200 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30
T 70 M4 60 14 50 3 30
400 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30
T 90 M5 80 19 70 3 35
T2 90 M6 80 16 70 3 40
250 T3 90 M6 80 19 70 3 40
T4 100 M6 86 16 80 3 35
T5 145 M8 130 19 110 6 58
T6 100 M6 86 19 80 3 40
T 100 M6 90 19 80 3 55
T2 115 M6 100 24 95 3 45
T3 115 M8 100 24 95 5 45
1000 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70
T6 115 M8 100 22 95 5 45
7 145 M8 130 24 110 3 55
T 115 M8 100 19 95 3 55
T2 115 M6 100 24 95 3 45
T3 115 M8 100 24 95 3 45
1500 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70
T6 115 M8 100 22 95 5 45
T7 145 M8 130 24 110 3 55

~

LeYWicrYnErLELY

s

<
o
=
o
Py
<
>
|
O
T
Z
(0)
—
>
93]
=
m




T NTUNANDINDSIS NTidonARDY
Servo motor corresponding size table

~

B s unssuswihudauenidhuazuaimesionas ] Input flange and servo motor matching table

33
-
ol
2
L
2)
c
)}
=
©
3
©
ol

N fadlnuoimes . SEEASRAAGK Gl Tasa uguinmewaman U U gUINAITaIDA| ANNANMSAINUDA | ANINANAISAININAY
Motor power "’m)f[‘:ra;i‘;':s Installation distance| Threaded hole Frame Aperture iy Stop depth Shaft extension
W) A B c D E F |
T 115 M8 100 19 95 3 55
= T2 115 M6 100 24 95 3 45
T3 115 M8 100 24 95 3 45
©] 2000
— T4 145 M8 130 22 110 6 58
% T5 200 M12 175 35 1143 10 80
= T6 115 M8 100 22 95 5 45
> 2500 T 115 M8 100 19 95 3 55
a T2 115 M6 100 24 9 3 45
E T 130 M8 120 22 110 3 55
Z T2 145 M8 130 28 110 6 65
® 3000 T4 145 M8 130 24 110 6 65
)_>| T5 200 M12 175 35 114.3 10 80
'E 7 200 M12 175 35 114.3 10 65
m T 130 M8 120 22 110 3 55
3500 T2 145 M8 130 28 110 3 63
P18 T5 200 M12 175 35 114.3 10 80
T 145 M8 130 24 110 6 65
4000 T2 145 M8 130 28 110 6 65
T5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 113
T 145 M8 130 24 110 6 65
4500 T5 200 M12 175 35 1143 10 80
T6 200 M12 175 42 114.3 10 113
7 200 M12 175 35 114.3 10 65
T 145 M8 130 24 110 6 65
5000 T2 145 M8 130 28 110 6 65
T5 200 M12 175 35 114.3 10 80
7 200 M12 175 35 114.3 10 65

winowe 1) mnliddminiunsofivuauancieiu anadesdiiamiofiaduoinositddainai

If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.
Wi 2) Inauainesiiuuinfon nielsunsoinmsdidoluniay

If the motor shaft is of D-cut and taper type, it corresponds to a special order.

ninowme 3) onadesduiiawAnsuaudsunonmilonninasgu Amsunoansuaiusnlusafasdeiusnsnan
Out-of-standard may correspond to a special order in some cases, For details, contact us.



ANsUsznaU
Assembly

B Funounsusznou Assembly procedure

mnanfUsznaunainasisashuasnanuuIadiuauos lWsaldruunieeluil wihulaumasvuiaiidanainesivoshdouraunnsaiudusgiunoinositsy dafu
uowesisguonalianmnsausznould asaasuliuilainlds:uneimesiigndesnaudidosanuun

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions
based on the motor specified . Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1.nseilus=nounaiwmas Inslifian Spec. in case of assembling a motor without key ® AE/AF wwunwansu
DneanhAsourNaanLAyWANT I IRanlUAIAsvaan T dnaNiuLAznTAg I anin AE/AF series schematic diagram
AALoDNLAN
Take off the rubber cap, turn the input shaft, and match the head of the bolt to hole of set screw.
Make sure that the set bolt is loosened.
@riony Tamamawesith luTwwanwdn (esrasuliuilanlawh Weswsuauladhiinsandn)
seisoen T lah lu Tuwnisiineinasiso
Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without jam). Be
careful not to be inserted with the motor tilted.

@faduainasithiufmaseunastuiioniiiniusousidairmualy gensait 1
Attach the motor to the reducer and fasten the bolt with designated fastening torque. See table 1.
@ieadnindmnupvoanwanaithshosuRusiiadairmualy “1aq gensai 2 []
Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. See table 2.

®Tdnn mseiunsiaciliagaauysal =) (=]

Put on the rubber cap. It is the end of assembling.

® snaii 1 Tabled

- usadaTunsduia Fastening torque
fondanaimas Motor combination bolt
(N-m) (kgf-cm)
M3 1.0 10
M4 3.0 30
M5 5.8 60
M6 9.8 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 168 1650

® i 2 Table2

o usadnTunsdiuiin Fastening torque
ftondnnoimas Motor combination bolt
(N-m) (kgf-cm) H ®

M3 1.5 15 L2
M4 35 35
M5 71 71
M6 12 120
M8 30 300
M10 60 612

\ienanausanudh Aanunsndinsauainesimiguwdsruuaimesivulildaniesuslithasu

liigiasrinaldosmsaulna

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.

2LMeLU

neu

ATdNISSY



ANsUsznaU
Assembly

eMeLUy

o
~

v

M nseinssshuasau Reducer assembly

=5
©
c

esiasshmasousmuiuuaunaal Temaaeulii lanuidmsuaaduiuwsouua lufidou aniuldusuausidonsoindosfioswmotuadninduwulu
anuusidadirnue gesai 4

Jointing with reducerin case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo equipment,
ensuring assembly surface smooth and without burr. See table 4.

® i 4 Table 4

- ussDa Tunnsdiudia Fastening torque
flandnsuasau Reducer combination bolt
> (N-m) (kgf-cm)
(% M5 5.8 60
m M6 9.8 100
< V8 19.6 200
vs]
— M10 39.2 400
< M12 68.6 700
M16 16.8 1650

M nsidousiosuiwawnean Connection to the output shaft

Fomsaris Cautions:
1. \feUsznoudosio son 4ad iwhAuIwanwneansiaaui lainas hilwasmuunnnuanaauly
uAlWaNYN2n
When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial load —

not be given to the output shaft.
2. Tunsdifidinaiussg shodou anavih limadiwamsesuluzassaiAosadsuanuidome

Fgaiudaiuingae \
In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer

may be damaged, therefore it shall be prohibited. ‘L' (S

3. winmamioanvoradosionay onavi lWiAnm Uil dufudessinsidunsusznou =
If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful
when assembling.

4. Tumsuszneudesio Tianauadhsadnindude
For assembling of a coupling, fix the key with a set bolt.

5. TusaUsugudnaumanatnszinsidunsidonse
Please adjust shaft centre carefully in connecting.



434 AE/AF/ZBFZBFW/AE/FW




o34 AE/AF/ZBFZBFW/AE/FW




...Elﬂ'E)O'IVlVO

famasousnsualnAmINLIULNG snasoulunasyiauwintge wotmasiAssa1AT I
PRECISION HARMONIC REDUCER CYCLOIDAL PIN WHEEL PRECISION REDUCER TRANSMISSION PLANETARY GEAR MOTOR
LD s 200 oo s ol (o) $vin LD s 200 oo s ol (o) i EED i 200 oo s ol (o) S

Tl

54 ZB/ZBR/ZE/ZER/HD/HDR ‘lasiresiwasl/lagines15uusedu wowmasiAus DC lutassu
AszdAABsANIAS Iz AN U NN STUUTUIAADULIULURAAINATIH / DC BRUSHLESS GEAR MOTOR
HIGH PRECISION PLANETARY GEAR BOX szuuduiadoumnuiilninsmuaadu

SERVO DRIVER / BRUSHLESS DRIVER
INDUSTRIAL VEHICLE DRIVER / AC SPEED CONTROLLER

D 5 3000 Fewaos Tt aoulusa (nuuaus) e D 5 3000 Fewaos T aoulusa (nuuaus) e B 53 300 Fownos T aoulusa (Inbuaus) e

www.zd-motor.com »)



A ®

& kD 150 2uan Aaeos Iudu Aostnaa (Inouaue) Ida

HIGH PRECISION PLANETARY GEAR BOX
CATALOGUE

USEM ilath aen Anees Sumadiaud nsuadvdu 31An

Ningbo Zhongda Leader intelligent transmission Co.,Ltd.

fios: tawit 185 auu Xinxing 1 wawawnanamnssilowma Cixi nauwaidoideos
Add: NO.185 1st xinxing road, new industrial zone, cixi city, zhejiang, china.

USEM il aen ey widdu 1Ass 5a36 Andn
ZHONGDA CHUANGYUAN PRECISE TRANSMISSION EQUIPMENT CO.,LTD.

iot: 1awit 159 auudud walndsvdlan esdiod uaumaidoido
Add: No.159 jinci road, hangzhou bay district, cixi city, zhejiang, china.

AsusnsMsrAslulsame
Tel: 86-574-63537377

Fax: 86-574-63534879
E-mail: china@zd-motor.com

U3ANTANTANTAINU TN A:
International trade department:
Tel: 86-574-63537171 Fax: 86-574-63534879
E-mail: sales@zd-motor.com
Web: www.zddriver.com
www.zd-motor.com

dwsunuanduaiudnnganiiuu !
www.zd-motor.com

iilomwasnandasinainasonaiinsiasundadaslidesuddvnsuaramin
Any changes in product contents without notice.




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24

